[[Nof reco track vs dxy(PV) ]

N of associated (recoToSim) tracks vs dxy(PV) |

N of associated (recoToSim) looper tracks vs dxy(PV)

track dxy(PV) (cm)

05

track dxy(PV) (cm)

track dz(PV) (cm)

-1 -0.5 0 0.5 1

1%} 9] %] [%]
x x o X X -
Q Q [} Q
g 8 s g
[} [} Q
2 & %107
=
10 3
107
il
2 pe] 8 1
= T 14 El
o 14 14
1.2F-
. fooop-id o f NSO I U S S
10 15 20 -20 -15-10 -5 0 5 10 15 20 -20-15-10 -5 0 5 10 15 20
track dxy(PV) (cm)
N of reco track vs
R 2 2
[} [} Q
g g g
E 2 P
E ] 8
=
10 E
5 11E .
|| ‘| ‘ u l‘ : E || || :
| ‘ 14 4 14
| L1l HI || 1IH 1 Broigones 08 Lot Lt ]
. 0.8 -0.8-0.6-0.4-02 0 0 2 0 4 0. 6 0.8 =0.8-0.6-0.4 —0 2 0 O. 2 0. 4 0.6 0.8 D8-06-04-02 0 0.2 04 0.6 0.8
track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm)
N of associated (recoToSim) tracks vs dz(PV) | N of associated (recoToSim) looper tracks vs dz(PV) |
%] 9] 2] [%]
x x x X
Q Q [=] Q
s g g g
Q Q Q
210° & %10
=
=]
T
10™
2 2
T T
o 14
¥ : : 1k B : : : : :
—.O —20 -10 0 10 20 30 -30 -20 -10 0 10 20 30 -30 —20 -10 0 10 20 30 -30 -20 -10 0 10 20 30
track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm)
N of associated (recoToSim) tracks vs dz(PV) | N of associated (recoToSim) looper tracks vs dz(PV) |
R F R g2
g g g
2102 = 8
=
pm}
k=]
T = . 2 . 8
: '}h | : 8 : 5
X b I & 14 . o
H T [ AR R R R EEEE
[ ST TP roes sedyeczoezge: o L H L L L ot H L L L
-1 -0.5 0 -1 -0.5 0 0.5 1

05 1
track dz(PV) (cm)

1
track dz(PV) (cm)

track dz(PV) (cm)

track dz(PV) (cm)



	Contents
	Page 1


